oo = == == ==[1[]

dogoooooogdggdgilesddddioooooodddaic
000

goo:

OO0 : 2019/11/6 9:47:32

OO00000000010801002901080 00001080610 0000
ooooooooooon
(0)H)Oooool8o 120140 (00 O)O 120150 (00O O)O
(OHOoooooooooooo@ooo)a
(OH)OoOooooooooilo8Oo12040(@OO)TO
(OH)ooOooooooooo12000
O000000dU0ooo0U0ooo00oooooooooooooooooooo@)yooon
O0o0oooooooooooo
goododoboooboodooooooooon

O http://www._tyc.edu.tw/home. jsp?id=6&parentpath=0,50 0 0 O
0000000000000 00000000 0O 0O03-21813560

http://163.30.202.2 2024/5/18 19:43:35 - 1


http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

